SYNONYMS
s onsiiiEach item in this section consists of a sentence with an um?criined wnfrd fo\lo“!cd
ption that is nearest in mcaning

words {a), (b}, (c) and (d). Sclect the © )
5 Sheet accordingly.

ANTONYMS
= EhL and mark your respense in the Answer

16. The clfort was to harness the power of
nature.
{a) abusc
(b} benefit
fe) apply
{d) control

17. The l_iikﬁ nature of humans is at times
the causc of great innovations.
i {a) vacillating '
{B)1 1 L (b) consistent
(c). dispieased i fc) strong
(d)! uncomplicated: (d) wily
13. Do, bout. 18, The flood situation during the monsoon
2 this year was calamitcus.
fa) abundance
(b) catastrophic
{c} encouraging
 (d) welcome

‘He was appointed as the honorary
member of the team.

(@) paid

b} invited

accepted

The nove] depicts
unpaid

certain sections
@) wretched
(B) miserable
fe) rural

[d) fortunate

of Society
¢ church decided to excommunicate
for his actions.
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SENTENCE

RING OF WORDS IN A
{he parts of W

ORDE
ofa sente
jow'

Dire, : i i
bccnc;:::l; .dI':ﬂ:h of the foliowing item3 18 this Section gonwits
ed. ;
scquences namThcsc parts have been labelled P, Q, R and S- Given bled parts of the s
g orees namely faj, (), (o) and (4! You are reauired to rearmenge U117
Your response accordingly:

ever considered "
B

21. to b
_ﬁ;’m what it is w"‘_‘h_ﬁ‘l_g have You
Q R
= soPr m R
QPs
fc) QRsp @
PRSQ a

22. there {

s in al j
— —— 8" Instancc a single,  ZZTender
P ————— "2 the idea that

Q
authoritay
tive truth to pe discovered and defendeq : i b
R many people today are WIINE to |
s g
@ RPSQ
&) sp
@ RPos RQ
{d}) SQPR
23, for

if
¥ou do not reflect and understand
Q

Yoursetl i
{ the implications of death
- s

from on,
€ pre,
acher to another you will g0 endl,
endlessly

R
S

fa) SRPQ
&

fc) RSPQ. - s
fd) QRSP

-U-TAG/49A
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it is recognizedithat) \

(@) QRPS)

¢) QRSP
26. in agriculture and’

programmes integrated

2 (B} RQES:

)i(aj SRPQ
#{c) SPRQ

27. and should shift the way ainty, very important,
P T b

the issues ists and multiculturalists’

we think about politics

R
)‘[a] RPQS
Ale) SPQR

[P0
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8. by which the genctic material of & plant jg
v

Pests and enhance its ﬂuu-i:ional value ‘perhop$ o
_——_-___‘________————.
Q

Nctic_modification (GM) is the scicnee
s

. eRES 4 ) SPRQ
fcy Rspro @ rpos
¢ work
29, %ﬂ% the editors of the present

it Q

the history of social reforms from BIBUC the need to undzﬁ”"d

ZTBUC the necd to undersBiS
] s
«f(a) QSRp X EarRs
¥ fe) Rsop @ somre

30. for whic

h she fought till the end as a champion of women’s rights:
222 champion of women’s rights.
P

Q
Pandita Ramabaj was truly remarkable as a pioneer in women'’s education and
2s a pioneer in women's ¢ducaler T07
5 s
Ata) srop ‘ N ioPRa
» f¢) RSQP ¥ PORsS
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osition to

37. P bl
If 1 will be the millionairn owdlomaloate
(a) = ®

No error
()
hange
38. A bird i i

'rd(l;’ hand  ‘is better than two in the bush.

ay e

[ (c). >
A t event in one’s life

Hike a bull
/. nt person of wisdom|

portant piece of advice

39. T N 3
he opportunity to attain foundational literacy
@ rtant thing in onc’s

o be extremely sorTy

o be extremely wise

must be viewed as basic right of every citizen.

(e}

To be extremely sad

" (d) To be extremely happy

A5 Belin|the 3 E‘:}v e in the red
{a) To owe money 1o & bank

for different directions,
‘e very healthy
(b} To get money from one’s family

40. Though there is progress

f ®
S @ To be in danger of being caught
¥ i) To bo in favour of needy. pﬂpk
8

mnmmu-'mcms;
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o1, i & 3 frh T T TR
=07

(@) e TN W AR wfda
) g R wEm anf&
(o) vt i FmEE e
) v T e S
s2. ﬁnﬁﬁﬁmaﬂmwﬂﬁﬂu
<framn errdm <Rl STl
2.

i Fma iR, (We Fe Wo) T Tem
3.

e Do Heo T TEEH THEEE Fsm
I

4, wgE A wER e

Tgw vl W W s ReRfe
FR-wmR? 2
fa) 1-2-3-4

) 2-1-3—=

(c) 4-1-2-3

(4} 1-4-2-3

53. Fefofan § & e o2 A e S RRm @ R

voenfes @ Tt
(e} THITR = TR I
{b) AT LR
fc) =R S

(d) 1857 = TZw

DFRGU-TAG/49A
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sa. shm i it w BRm {w

1639 1 = R Qfm dw) il

3
R R Py
{a) TEAW
(b} TR ()

(e} FrETEEh

(d} =FEm

S5. ﬁw%&aaﬁ%m-mrﬁa—%mm%m

1. mﬁagﬁmmﬁ %‘

R R B

2. a@mmaﬁmgsﬁw%

\

8% i, e ek
fa) w1
(b) TR 2

fe) 1w 23

(@ JAWi1drad2

56, +E T 2 e o, Bl ad g
ﬁmvhad%mﬂmm%m%

(ﬁ"“ﬁ)mﬁmm%,ﬁwm;ﬂ

(@) T i (i )
(o) TR P (5
(e) =T S g R A

(@) TR (A ohn o ()

1. Which one of the following Wwas
composed by Harishena?

(a) MNashik

Inscription  of Gautami
Balashri

(b} Prayaga Prashasti of
Samudragupta

(c} Decopara Prashasti of \Jijnyam:na

d) tathigumpha Inscription

of
Kharavela
g2. Consider the following events &
1. Establishment of the Planning
Commission
2. Tormation of the National

Development Council (NDC)

3. Approval of the First Five-Year Plan
by the NDC
4. Constitution of the

National
Planning Committee

Which one of the following is the
correct sequence of the aboeve events?
fa) 1-2-3—4

() 2-1-3-4

fe) 4-1-2-3

(dj 1-4-2-3

3. Which one of the following pattles could
be seen as laying the formal foundation.
of the British Raj in India?

(a) Third Battle of Panipat

Wb} Battle of Plassey
{c} Battle of Buxar

(d) Revolt of 1857

DFRG-U-TAG/49A 11

PART—B

54. Where in South India did the British East
ndia Company consiruct a trading post
in 16397
(a) Cuddalore
(2] Madraspatam
(c) Kalahasti
fd) Karwar

§5. Which of the following statements isfare
correct?

1. The Dutch East India Company
was formed after the formation of
the British East India Company.

2.

Vasco da Gama rcached Calicut
in 1498,

Select the correct answer using the
code given below.

(a) 1 only

&) 2 only

) Both 1 and 2

() Neither ! nor 2

56. In India, a cuitivable land which is lcft
ncultivated for more than a year but
less than five years is labelled as
{a) cultivable wasteland
{b) current fallow
{e)

{d)

fallow other than current fallow

barren and wasteland

[P.T.O.
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Em: 7. The ‘major portion of the Great Artealan

Basin in Australin s located in

w0

-1
Qrexd Tr) ("5“-!1 1 fa) Western Australia
A ae 1. v (b) Victoria
B. =i 2 2
. - VR {¢) Queensland
al 3. 2
D. TR ¥ Tmhﬁlf {d) Northern Territory
iy
B c i .
4 1 58, Which of the following statements isfare
correct?
B ¢
1 a 1. India has onc of the longest
navigable inland water nchworks in
B c the werld,
1 4
2. Inland waterways presently help in
c transporting about 25 percent of
1 the total cargo movement.

3. About 111 inland ivatcrways
have been declarcd as National
Waterways under the National
Waterways Act, 2016,

" iy

(@) B At .
SiRi! \t Select the correct answer using the

code given below.

f@) 1, 2and3

LT
(o) R
Pt 6

T-?B:l—@ (b) 1 and 2 only

{c) 3 only
s

(d) S ) 1ana 3 only

DFRG-U-TAG/49A 13

59, Match List-1 with List-Il and scl

correct answer using the code
below the Lists @

List-T
{Railway Zone}

A. East Central

B. HNorth Eastern 2. Jaipur

C. HNortheast Frontier 3. Hajipur
D. North Westermn 4. Maligaon
Cade !
fa) A B C D
3 4 1 2
® A B € D
3 1 4 2
g A B € D
1 4 3
@A B C D
4 1 3

60. Which cne of the following statements
about carthquake waves is rot correct?

fa) P waves move faster and arc the
first to arrive at the surface.

(6) P waves can travel through
paseous, liquid and solid materials.

fc) Scismographs Jocated beyond 145°
from cpicenlre can record the
arrival of P waves.

{dj P waves have maximum arca

covered under its shadow zenc.

[B.T.O.
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65, Trofafm & @ wE-m wtie,

66.

imgmi!mmﬁﬂmm

<t % i i 3w 1. The commercial unit of clectrical encray

(a) i
is kilowatt-hour (kWh), which is equal 1©

) et T AT i % wRn fa) 3-6x10%4
P P B ) 3-6x10% J
. fe} 10%J
{el} w11 3 e A T % TR
@ 19

62. Which one of the following statcmcents

regarding a current-carrying solencid

aoneed % gea o A R is not correct?

(@) The magnetic ficld inside the
fa} SO0 nm solenoid is uniform.

(&) The current-carrying solenoid
(b} 5000 nm behaves like a bar magnet.

(e The magnetic  field inside the
fej 100 nm 1 id 1 with i in

current.

o) Lin fd) 1f a soft iron bar is inserted inside

the solenoid, the magnetic field
remains the same.

o T = 220 v IR | 91 g3 4,
Z@ €l W gEN UW 600 ;nAEg,.:E__@Iﬁ
oifts el 27 3 sl

63. An object is made of two equal parts
by volume; one part has density pg and
the other part has density 2pg- What is

- the average density of the ebject?

fa} 132 W (@ 3po Vi= Vg
3 ¢ dummy  duslty
4 3 e ¥ v,
(b) 132 W @ 200 %
@ 1320 W ) © po i i@
(@ 13200 W @ 3po

DFRG-U-TAG/49A
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64. A pressure cooker cooks

jncreasing  the
waler

(a)

decreasing  the
water

{b) boiling point 1ol

]

incrcasing the
water

meclting point ol

{d) decreasing the

water

melting point of

65. Which one of the following wavelengths ;
corresponds  to  the wavelength  of
K-rays?

{a) 500 nm

b} 5000 nm

{c) 100 nm

1 nm

()

66. An clectric bulb is connected to 220 V
generator. The current drawn is
600 mA. Whatis the power of the bulb?

P-vI

(@) 132 W
| =
m) 132 W = 220 X X0
= -2,\;\/
fc) 1320W @2
(dp 13200 w
[P.T.O.
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1. TR WA MAEd wo wta @ o, g,

W ﬁf: e m:;\! ferdiadl & ity '-\:w
fra fam g {7 Wiy
¢ 3 7. When the piteh of sound |

which ene of the fellowing iny nereascs,

Crensea?
{a} Intensity
) Loudncsa
fc) Wavelength
{d} Frequency
&8. Which one of the following I8 the correet
reactivity series with water?
{a) Zin¢ > Tron > Lead > Copper
{b) Copper > Lead > Zine > Iron
) Copper > Zine > Iron > Lead
(d} Zinc > Copper > lron > Lead
69, Which one of the following metals floats
in cold water?
{a) Magmesium
(b) Calcium
(c} Potassium
{d) Copper
70. Which one of the following solutions is
1ot capable of conducting lectricity?
{a) Copper sulphate o
{b) Sodium chloride
{c) Sugar
(d} Sodium hydroxide

DFRG-U-TAG/49 1

TZ. Which of the follg

undergeesfundergo
position?

fa) Zinc oxide

[b) Silver oxide and zinc oxide

{c) Silver oxide

{d] Magnesium oxide

73. The transfer of electrical signals
cells in human body is enabled

(@) sodinm LTy
{b} potassiom -
{) iren

{d) sodium and potassium



stion of fat in human intestine

1 artefacts get tnrniahed in air due 77. The dige
Tt ‘o the formation of is pcﬂ’,_-n-rm:t-l 0y
fe) trypsin

(a) gilver chloride
) bilc and lipase

I silver oxide
B fc) bilc and amylaze

i hid "
fet silver sulphide @ bile and pepsin

(eti gilver sulphate
78. Which one of the following statements

about animal cells and plant cclls is

2 corrcct?

5 fluman cyc can sce objects  at

" gitferent  distances with contrasting fa) Animal cells  have only cell
jlluminations. This is due to membrane not cell wall, whereas

plant cells have only cell wall not
fa) far-sightedness cclt membrane.
X »(b) Animal cells have only cell
) near-sightedness membrane not ccll wall, but
plant cells have both,

(¢} far-sightedness and near-
sightedness ¢} Both animal and plant cclis have
cell membrane and cell wall.
dation of cye
sld) nccommpdatio ¥ (d) Only some cells of animals have
cell wall and all plant cells have
ccll membrane.
TF TOF T 2, S o ﬂ 76. Which one of the following hormones
5 o jncreases the heartbeat in mammals?

ST .
| ‘!Eﬁm'%mamé? ‘?Hl : 79, Lymph is a tissuc fluid present in
3 | intercellular spaces. It resembles to

TS T | fa) Imsulin ~

fa) digestive juice
(5) Melatonin
(b} cytoplasmic fluid

(c) Thyroxine (e urine

a () Adrenaline {d) plasma

DFRG-U-TAG/49A : 19 {P.T.C.
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so. ﬂmﬁwﬁﬁmﬂwﬁﬁ?
fa) gz AR T
e W@zaﬂt'ﬁm‘iﬁxﬁm
fe) TEEAE 3T e

() TEERE S ELSA

s1. Trw T Y T & R Tt F9 S 2
Az, 2022 sa?

(a) A FHRES
(&) AT EifEn
(o) FER €S

(d) <im e

2. M@ WER R gy AARRA dw, fusiah

= g @ A R my o fren e
{a) R A fafes Brm

(1;] w2 e =R

() Wl e < e

@ addem (gfde) e | A
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B3. W WER WO
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SHRESHTA’ ey % oy Ny
R/ o gy ﬁq‘?‘@?g
1. Wahmmﬁ |
i 5
: %ﬁqmnqﬁ,m%g;'fum?ﬁ%
- %ﬁﬁﬁﬁﬁm%
w2 TGS Ty 1
R R o1 5z <
T Wt g
g
fa) a1 .
@) o
(o) 132 3t

@ FId13dmaE2

84, T A T T ke A, e &

B R oM R w B
; g,

=i mm@mﬁ“;‘
AR B i wiRut TR §
a7 (Th-Ufaie FA—%o e .

{a} mﬁqfﬁam.élkmm
b} TR Pufie W @ 2 km s
(c) SRt P m @ 3 km o

(dy TR B WA S lam ST

‘\

80-

¢ brenkdown of glucoge in cyto
results In the formation of ytoplasm

nl"“" pyruvate and cnergy
w pyruvate and carbon dioxide
) pyruvate and oxygen

(d) pyravate and nitrogen

81 Rafocl Nadal defeated whom among the

following to win the Fr
% ench
Tennis Tournament, 20227 44

fa) Austin Krajicck
(b) Ivan Dodig
fc) Casper Ruud

(d) Joran Vliiegen

a2. cSanjecvani, the free telemedicine service

of the Government of India, was recently
integrated with the

fa) Ayushman Bharat Digital Mission
(b} Aam Aadmi Bima Yojana

{c} Pradhan Mantri Suraksha Bima
Yojana

{d) Universal
Scheme

Health Insurance

DFRG-U-TAG/49A

83. Which

84. In 2 recent

‘_SHRESi

is for residential
for studentz in high

eation
hnal"itﬁ_mrgclcd arcas.

ides for Thigh quality
tion for meritorious but poor
led Castc students.

correct answer using the

. | and 2
‘,{c) Both
() Neither 1 mor 2

judgemcnt. the Supreme
court of India directed that every
protccmd forest, national park and
wildlife sanctuary across the country
should have a mandatery cco-scnsitive
zone (ESZ) of a minimum of

(@) 1 km starting from their
demarcated boundaries

(b} 2 km starting from their
demarcated boundarics

) 3 km starting from their
| demarcated boundarics

km starting from their

@ ;
demarcated ‘boundarics

|P.T.O.
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b= .,_,\____,_;a..,—-ﬂ,-—ﬁ'.sif@: v e AR We
T e e B TR S SO S
s 1. -3 T

T . who o

= 5 / 95+ \43{-‘,3&9

1.

(al] o .
i ~ctanjali Shree.

() (st 3.

4.

(a)
)
fc)

1.

‘Qbjective
‘Assembly’

89. Consider the following historic

Which ene of the following is the correct
chronological order (starting from the
ted the earlicst) of the above events?

2.

Gandhi-Irwin Pact
Second Round Table Con
Peasant Movement in Bardoli

Pecasant Movement in Kheda

4-1-3-2
4-3-1-2

3-1-2=%4

@ 1-2—4-3

80. Which of the following statements about
the Unionist Party isfare correct?

1t was a political party representing
the interests of landholders in
Punjab.

1t was opposed to the idea of
the partiton of India as India
and Pakistan.

Select the correct answer using the code
given below. ;

{a} Jawaharlal Nehru i fa) 1 only

(b) 2 only
{c) Both 1 and 2

(d) | Alladi Kris| Ay (d) UNeither 1 nor 2

/A9A

[P.T.0
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94, nﬁmﬁﬂd’h et
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(d) ?a,aﬁm:ﬁ?aﬁmaﬁﬂﬁﬁ {b) Il
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() TR
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1 which o0 of the following statements
9% " pout meamorphic rocks g mot
coﬂccl?

(o) Due 1o segregation of mincrals into
wavy bands or piaty surfaces,

some metamorphic rocks develop
foliations.

Where  the  folintions  develop
into broad mincral bands, the
metamorphic reck i extremely
hard.

Where the foliations are moderately
thin, the metamerphic rock tends
to flake apart.

Rocks  that originally  were
composed of one dominant
mincral are often foliated by
metamorphism.

g2, Which  one of the following
‘discontinuities’ scparates the Earth’s
crust from the mantle?

(@) Gutenberg
(b) Mohorovicic
f¢) Conrad
{d) Repetti
93, Which one of the following cities of

the world would represent the greatest
linear velocity of rotation of the Barth?

(1) Kampala, Uganda
(b) St. Petersburg, Russia
{e) Madrid, Spain

{d) Stackholm, Sweden

DFRG-U-TAG/49A
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94, What will happen if you are fying east
across the International Date Line

{a) You will lose 12 hours
() You will gain 12 hours
f) You will gain 24 hours
{d) You will lose 24 hours
95, The Prime Meridian does not pass

through which one of the following
African countries?

{a) Morocco
fb) Algeria
{c) Mali

{d) Ghana

96. Piecing together the puzzle of geologic
time to create and analyze historical
maps of the Earth is known as

{a} paleoclimatology
(b paleogeomorphology
{) paleolithology

{d) paleogeography

97. What is the nature of velocity-time
graph for a car moving with unilorm

aceeleration? v
{a) Parabola M
b Logarithmic o
(¢ Straight line
{d) Exponential

(P10




102, =@ ANt A

%
T W A iy

"lm"&‘
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e Waﬁt&,‘_ﬂma ‘m’ﬁl

. i} m‘*hnm%

o9, f fagy o g 10 B F S on )T sty g, Nf*’q‘m’
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1

e
fa) 6C
() 06 C
fc) 360 C
fd) 36 C

103. wiw ﬁ?%«ﬁm%?

@ Cu vz

100, D g firm firia @ W 7@ &

98

g9. M

. The

of naourd waves Ia
mcawrcd in the unita of

amplitude

(s) preanure
) distance

fe) tme

{d} apeed

current ol 06 A is drawn by an clectric
bulb for 10 minutes. Which one of the
following is the amount of electrie

charge that flows through the cirenit?
I =0-4Q

fa) ©C 1 =¢oos
1 06C 36
() 360C

{dp 36 C

100- A DC generator werks on the principle of

fa) Ohm's law
{b) Joule's law of heating

{c) Faraday's laws of electromagnetic
induction

(d) MNene of the above

101. The presence of magnetic field can be

determined using which ene of the
following instruments?

fa) Ammeter
(b} Voltmeter

fc) Magnetic needle

{d) Motor

102. Which cne of the followin,
2 otatem
about apeed and velogity ia r.or!:c‘;m'

fa) Speed and velocity both
quantities. e peetor

) Speed and velocity both
quantities. arcacalur

fc) Speed i3 vector 8
» quants d
velocity is sealar qua,,“—t},_!y an

{2) Speed i3 scalar quantity and
velocity is vectar quantity.
103, Bronze is an alloy of
(@) Cu and Zn
B} Cu and Sn
fc) Zn and Mg
{di Fe and Cu
104. Which onc of the following salts do¢s not
possess water of crystallization?
fa) Potassium permanganate
() Blue vitriol
fc) Washing soda
{d} Mehr's salt

{10



110. C,Hg Fradfl wardia v § mitg 47
() &
) T
() Y
(d) WA

‘The number oL

o 4
) 2

) 3
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g R Wil
ﬁr% 7 pici
1
@) 14, Pritam & g, wer s 2w gw B § { A
the fruit and the sco
} " ing enzyme sccrcied by 114. Afer fertilizatiors
P % fa) iz ofit JvEnE A | The p“""";'c‘ll‘lgzl::,l"?n :‘:};‘: of mammals are produced bY
e | 11* ine atom .
Wq ) wm atr iz & i called fa) ovulc and ovary. respectively
(e, itinoac i
4 Q@q (o) ssmamE @, dAis 6 ST faj ShIEO® » (b} ovary and ovule, respectively
1y () s B, swera B AMEEED g I amylnse () ovary, no ovule required
=2 %t}:}c .l pepsin {d) ovule, no ovary required
E]
; iy
“q_;‘ k4 T % e 11s. Preforfe 3§ fred FER-T/9RAT (efper [ ) typain
B T gy, e P S az:z:ﬂ:ga ﬁﬁ :ﬁﬁm & ary 3@ J - 115. Which among the following has initiated
Ritiees % = Ll Heh F U T Ry 3 (] - L a i ide fagship ign Puncet
fa). ‘gt wTR STREE WTeH fRar 7 iy won one of the followinZ will be Sagar Abhiyan' to clcan scashoresf
% & . | 112- W:‘;’i“cd when an  animal cci‘ is beaches and other water bodics of
¥ . . : :
= wmf gen (a) NTCAE WEEE s““°""dc§°nb);rztu::i‘mm with lower plastic and other waste materials?
concentra
| fz) Indian Coast Guard

fc) wrETEE (FmEEEE)
(d} ugEEm
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(&) TEA HTT B (o Ho o) I
fc) v W

() @ i

116. €g® g fw vafawm faw, 2022
s PRt A A W “
|

fa) TS ]
() =
o) =iEm b

(d) * A

Cell will lose water
(b) National Cadet Corps {NCC)

#te)

b) Mo change in movement of water

fe Indian Navy

ofc) Cell will gain water
(d) Swachh Bharat Mission

< hef) Cell will swell up

116. Which among the following was the host
country of the United Nations World

113. The digestive enzymes are prescnt i
B an Environment Day, 20227

fa) mitochondria (a) Camada

(b} vacuoles (b} Sweden

-fc) lysosomcs el f¢) South Africa

{d} ribosomes {d) Brazil

[PTO.
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g 4 - () NS Khukri
fa) slQomatiland INSIRz
ek (@), Hitopadesha,

E (b)), 'Panchatanta.
(8), Fig : -
(6))} Suryasiddhanta

) ®H
b @) TR Pt i
@ athasanfsagar

T ——— : PRI i (2 [
| % x ‘Bhoodan 'Movement:
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123, wm # fmfafam 3 @ W

iy e B A e = Fn e
(a) TR
) <HRAR (wiER)
fo) YIRRER
(a) TrESE (EEiw)
frer el el T S . Sy
— ﬁ%aﬂmwﬁm%—mumm
i ‘s wE ST % oI Y% =T e
‘I’ wE e 37
fa) @ el
(b} IS Wi

fe) ¥ =

(e Fadl aveht frem

125. Feffmm § & fra oo wm #§ w@d (v

i) iy 7
fa) =FrefEm
(B} T

(¢} e

(d) TrEf
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126. wm R

aq

V

139

™ A Tl P Ty
AECHE SIS

1. R SEEEn W B 2
TR =g m?ﬁ?‘:jﬂ(?ﬁ?‘é i
Foem 0w 4

T FR g wy
1 A fonfera won

T A A Reet o Y
(a} 1
W 2
(e 3

(@) = =d

127. oW SEE TeRel w o
A 4 Fred wafim a7

= P g,
{a) TR

(b) @

{c) =g

() SEmEE

which onc of the following rive;
o was not crossed by Alexand
army?

T8 N Ingig
°F and hig

12e,
{a) Nyphosis
() Acesines
(c) Hydraotes
{d) Hydaspes
24, Who among the {ollowin,
¥ the medieval Indian

wo kinds—the horg
and the fopt.

g has deseribed
postal system as of
€-post called Ulug’
“Post called ‘Dawa*y

@) A-Birun;
[b) Duarte Barbosa
p e Tbn Baitura
fd} Scydi Al Reis
125. At which among the following Harappan
sites are fire altars found?
p (@) Kalibangan
{b} Harappa
‘f {c} Mohenje-daro

{d) Rakhi Garhi

a5
DFRG-U-TAG/49A

Consider the followin.

B s\nlcm

Computation of \lens'lw 5 PR,

1. Physiclogjeal density can e
<computed dividing the 1oum
Population by e et cultivnlie
area.

2. Agriculturay densiyy  can e
con?putcd by diviﬂ'mg the tatay
agricultural Population by the net
cultivable area,

3. Population density  can e

computed by dividing the 1otal
population by the total arca,

How many of the above statements
isfare correct?

fa} 1
m) 2
fc) 3

d) None

127. The formation of ‘tors’ on small rocky

hills is associated with which among
the following?

{@) Granite
(b} Limestone
fc) Aluvial

fd) Dolomite

[PT.0.
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29.

PR % 53t v i A
LT Ry IR B 3

2 TR (W) & g
15km 3,
“@mmmaokmm

B R v g
(@ ¥

(b) ¥Faw o
() 133
(@ 313k,

30. Sl 2020 #, e & 3 B g

T8 % o 1 s # fem o
Rt

(@) % 3K 4R g

(b) Y50 TRy e AW B

(o) ) W Sig s P A
(d) TR S0 AR T T e o e
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D
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l
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131, A 7w v
2 °‘§?"‘§ =4 84 nﬁm“};:m W,
:\1‘:\\‘? W g L T Sy qﬂq‘
(@ +2 7Ry
) +6 3wy
fe) -6
@ +33my

132. Retian 3 4 T,

mzﬁﬁgﬁﬁ?ﬁﬂﬂmm
fa) v

B 2
) g
@ viR

fa) (312
(b @9 '
o) @3
(@ /a0

134.@%%351%1%%

TR 800 g ¥ R )y 1g:§3
wmwﬁmm%mm

15 gem™ v AR 38 Bl
1w PR 1

(0) ¥ wE g BRI &
(b) ¥ W B ¥ g v

(0 ¥R st g
(d) %% 3§ Fom i 7 B 5wy,

36

Wﬂi% |

e o %?m

Jder the following statercnta about @ w0 convex longeg
ne

il nnﬁﬂiizz;zk;nca arc high pressure

b gystems:

Air in the centre of the system must
% e subsiding.

Anticyclones are characterized by
2 converging winds,
How TanY of the above statementy
jsfare correct?
o 1
o 2
3
(d) Mene

129, Which of the following statemenyg is

fare
- corect?

1. The Barth's crugt is Yrittle in
nature. *
2. The mean thickness of the oceanic
crust is 15 km, whereas that of the
continental eryst is around 30 k.

Sclect the correet answer
code given below,

fa) 1 only
(b) 2 only

ot Bothland?n
{d) Neither 1 nor 2

using the

130, Tn January 2020, the administration of
which of the following Union Teritories
has been merged topether?

(@ Daman and Diu and Puducherry

{b) Puducherry and Dadra and Wagar
Haveli

{c) Puducherry and Andaman and
Nicobar Islands

{d) Dadra and Nagar Haveli and
Daman and Din

n
DFRG-U-TAG/49A

Nave foy len,
gthy
50 em ang g5 tm, Tespectively, 1t th
wo lenses are laced i o

N conty
the net power gf is e then

bt combinatin will
fa) +2 dioptze & é’o*é's P=L
) +6 dioptre ANSNT N |
l -5 dioptre &— ‘L%F f‘%
@ +3 dioptee - s‘g
132. Which one of the following terms capngg
Tepresent electrical Power in 5 circuit?
o) v Pzyp I
B 2R W12 &
o IR t %:
2R peh

133. The refractive index of erowp glass is
close t0 3/2, If the §

. peed of light in ar

is¢ thcp the speed of light in the crown

glass will be cloge t -
@ (3/2¢ ih=d

CRILE L
R &‘ﬂ'&kﬁw
@ ©f4e M

134, The volume of 2 sealed packet is 1 fire
end its mass is 800 g, The packet is first
put inside water with density 1 g em™
and then in another liguid B with
density 15 g em®, Then which one of
the following statements holds true?

+{6) The packet wil float in both water
and liquid B.

{b) The packet will sink in both water
and liquid B.

{c) The packet will sink in water but
will float in liquid B,

{d) The packet will float in water and
sink in liquid B,

210,



13s, "%ﬂwﬂ;ﬂmmlmﬂi‘ﬂfﬁw

& W rers w srder TR | AR IR

SO W g R s s B @

T R oamn w Rw oW, @ e W
ST T

“fa T
?rb} T/V3
(C_) 2'_1:‘
@ JET
136. Firfiies 3 & fam 97 (R & o 54,
g w1 warate 9 4
1) e o ewie
rz;} ¥R Srie
() Wrda
(@ 3ifm=
137. ag=dz 243G ¥ ad, Rt § 4 =R-a
el 1wt wE 27
(a) ft Foepm
o) g =
fe) Y-=padt 3l @ e

(@) -t i fafrm
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138, -1 W gt & ma PRm AR ay
qﬁxﬁ\ar.-n%xm“'@mw\nmmm

b
-1 -1
{wemT) (wrd)
A, 3T-TEFTT 1. wRen weam
B. FRATHWE-NEAH 2. W CH WNR
C. YyeT-TEr 3. A N g,
D. TR T 4, Wi 8 iy
&He
@ A B C D
3 2 4
M A B C D
3 1 2 4
fc) A B C D
4 1 2 3

dd A B C D

139, FFEAGES W RN TR A A2
fa} SEE
{b) WM
fcj HH@

{d) ==&

A simple pendulum having bob of maas m
and length of string | has time period
of T. Il the mass of the bob is doubled
and the length of the string is halved,
then the time period of this pendutum
will be

T=ar

fa T g

ep) TINE 15%%
e} 2T
d 2T

136. In which one of the following devices,
the light encrgy is converted into the
electrical energy?
fa) Light-emitting diode
{b) Laser diode

ofc) Solar cell

(@} Transistor

128, Maotch List-l with List-11 and select the
correct mnswer using, the code iven
below the Lists o

List-T
(Mahamatta)

A. Anta-mahamatta

List-11

{Function)
1. Women'a

wellare
B. RIhijhakha-maohamatta 2. Spread of
Dhamma

C. Dhamma-mahamatta 3. Associated
with city
administration

D. Nagalaviyohalaka- 4, In-charge of

mahamatia frontier areas
Code :
{a) A B € D
3 1 4
b A B cC D
3 1 2 4
fd A B c D
4 1 2 3
fdy A B C D
4 2 1 3

137. Which one of the following is not a power

of Panchayats under Article 243G?
fa) Land improvement
&) Implementation of land reforms

fe) Lland conselidation
conservation

(d) Regulation of land revenue

DPFRG-U-TAG/49A

139, Who among the following is the author
of the Hastyayurveda?

(e} Palakapya

(b} Vagbhata

and soil

fc) Sushruta

{d) Charaka

a9 |P1.0.
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() wEE
) gRier=
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fc) w2

141, ﬁr—;mﬁammﬁm%__

1. TRW T e e a sy
[ Gk R e —

2. TERY 3 e il esfman e
T W T # wEia iR
e e o w2
¥ & Ber-m - v Y
f@) Fae 1 ’
(5 = 2
e 1 3R 2 35t

() AW 1 siad o

- TN R A B oo, goisT siv
A W HR Rrremd srvmr daei @
T FTS E7
fa) =gd Femeam
{-b) a9 frarsemy

(c) FHIF T

(d) TadrET Brammem

U-TAG/49A 40

143. '3} 2w w1 M ARE (3gm)* o)
Pt werl W fran Ak
1. uE A e A )
Faw Tawadtaanl W
2. T deim wel v Rl Q)

R =EEr i T
=l R

ST gy g
Tt oy 3

B anfy,
miﬂw

I9gw A& ‘aha-;m/a?lq-ﬂ Y T
fa) e

@) 2

fe) 130w 2 9

() ad1afRade

144, Fefafaa F W Rrar S .
1. mmﬁqﬁﬁfmwmmmﬁqhm

2l
2. mﬁmaﬁzm?ﬁu‘i%mﬁ
3, Tﬁﬂﬁﬁm@%ﬁlﬁﬂ%ﬁﬁéﬁ
I T R o ) 2/
fa) 1
B 2
) 3
() =g e

whmh one of the followlng are
1‘0' acquircd by the British
Trenty of Deogaon, 18037

AN vy
under the

(a) Cuttack
(b} Murshidabad
(c) Surat

4 (d} Calicut

a1 Consider the following statements :
141.

1, Maharashtra State has the
maximum  share of mnational
highways [(length in kilometres).

2. The nature of terrain and the level
of eccenomic development is one
of the reasons for the maximum
share of national highways in
Maharashtra.

Which of the statements given above
isfare correct?

fa) 1 enly
b) 2 only :
fc) Both 1 and 2
{d] MNeither 1 nor 2

142. The activities or services focussed on
creation, rearrangement and inter-

pretation of new and existing ideas are
referred to as

{a) quaternary activities
{b) quinary activities
(c) tertiary activities

{d) secondary activities

DFRG-U-TAG/49A

13, Conaider the

Tollowing o
Ude Denh y Wtemany, o
acheme 3 Anm Hamri, \U&Q\‘:‘I‘\.
i,

R % an Innovatve
develop  ahe
market,

2. R creates
Aordabit
Sconomically viakie s

Tight on Tegional Toutes,

e

Teglonal g

Whation,

Which of the state

: MeNts given abay,
isfare correct? Shage

(a} 1 only

®) 2 only

fc} Both 1 and 2
(d) Neither 1 nor 2

144. Consider the following statements :

1. The Sharavali river creates Jog
Falls.

2, The Brahmani river iz formed by
the confluence of the Kosi and
Sankh rivers.

3. The Tamraparni is a river of
Tirunelveli district of Tamil Nadu.

How many of the above statements
isfare correct?

fa] 1
) 2
) 3

{d) None

ai {PT.0.
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150. HEEMN <fEfi w2

{a) a@mﬁ = T |

(b} Rl Y A i signals is.

{a) auditory.
fc) [E-aih = el wi {b) cochlea
(@) T g | . R

(d) ecustachian’tibe




